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Questions:
60 Questions to be filled

1. i aiieru & MR W, 2ifiedy S ST uTs o Yal ¢...

On the basis of dimensional équation, the maximum number of unknown that can be found, is
(A) UF/one
(B) Tlltwo
(C) OH /three
(D) 4R ffour

2. Tw SRR el Sigfd # gge Tl dieedT Sear &, o SiSeye el
In an ynregulated power supply, if input a.c. voltage increases, the output voltage
(A) ¥eaI 3/ Increases '
(B) gearg/ Decréases
(O 391 €t T8 2/ Remains the same
(D) SWRIGI B3 o 781/ None of the above

3. Togenfoeicy 3¢ &l aifde Teg Pfds g
Which of these sets of logic gates are designated as universal gates?
(A} NOR, NAND. '
(B) XOR, NOR, NAND,
(C) OR,NOT, AND.
(D) NOR, NAND, XNOR.

A, Teh TTeTeh (e =18 d AR F=aTg 1 1 9faer R 01 9 aree s sare 3men 3 3gehT ofers o= i o,

YR wiaRrer gl

The resistance of a conductor of diameter d and length [ is R Q. If the diameter of the conductor is halved

and its length is doubled, the resistance will be
(A) RQ
{B) 2RQ
(C) 4RQ
(D) BRQ

5. Hrem.e o e i fafy o1 IugeT oo e g1
The CRO uses Method of focusing
{A) Electronic
(B) Electromagnetic
{(C) Electrostatic
(D) Electromechanical

6. geA e 8051 F, Yrer o WifRae eiest ey TI IR RI BT e el &
In 8051 microcontroller, the register that holds the serial data interrupt bits TI and R is
(A) SMOD ‘ '
(B) SCON
(C) PCON
(D) IE
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7. ' T yde s ot o s F uy T Ris IS 7

In each node is connected to every other node by direct links.
(A) ToTEUEIST/ Ring topology
(B) SIeidsi/ Tree topology
(C) ARTTIAS /Mesh topology

(D) WRAUESI/ Star topology

8. afr G e v e Rl e S, gt frg Frar 21

If frames are displayed on screen fast enough, we get an impression of
(A) Ted / Signals
(B) HILIY / Motions
(C) OPHCH /Packets

- (D) e/ Bits

9. FFAfellEd # ¥ Uoh TIESTER Pl SEc SICT VG [OeTot A+ & ST foha S 1
One of the following transducers is used for very small linear displacement measurements
(A) wadd &/ LvDT | |
(B) TORT 7 / Pirani gauge

(C) Q99T / Thermocouple
(D) MG GHHIST /Shaft encoder

10. Tek 31} "Teran A YT 7 AT UM J
A semiconductor has temperature coefficient of resistance.
(A) YPRIHASD / Positive
(B)Y T4/ Zero

(C) TBUTHD /Negative
(D) I B1s W T8t /None of the above

11. QP T & ST IR TP BIEI g4 frefia wRar gl
A small circle on the output of a logic gate is used to represent the:
(A) Comparator operation.
(B) OR operation.
(C) NOT operation.
(D) AND operation.

12. C WamH & Jefer Fr omar & FI AT T F AL

C Programs are converted into machine language with the help of
© (A). WX/ AnEditor
(B) HHIGER /A compiler
(C) TP SRS yomett /An operating system
™ Y 13 1) 78T /None of these.
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13. Uer ErsieRe gl

A fetch cycle is the

(A) SIQu WIgidiel &1 YT YT/ First part of the instruction cycle
(B) ST AISha BT U/ Last part of the instruction cycle
(C)  SIIo WISfT ST YT/ Intermediate part of the instruction cycle

(D) SIS WISfdhel BIYRF R /Auxiliary part of the instruction cycle.

14, 3O TBR =TT 3UANT i §1
Most radar antennas use a
(A) T33a/ Dipole
(B) Tawga urf &g / Broadside array
(C) S 3l wRafi® WRIFd® / Horn and parabolic reflector

(D) HedWH g/ Collinear array

15. veh AffEey U giesga § S &1 yfafds s g
A Thermistor is a transducer which converts
(A) d9HE W *RIY® / Temperature to resistance
(B) OIYHM ¥ dieedl / Temperature to voltage
(C) TIYHH Y 4RI/ Temperature to current
(D) YURIad BT T61/ None of these

16. SUUE TUR &I S I 7
The frequency range for satellite communication is
(A) 1kHz-100kHz
(B) 100 kHz -1 MHz
(C)y 10MHz-30MHz
(D) 1GHz—-30GHz

17. 5710 9 9 W enur wis 7t &7
Which of the following is not a binary code?
(A) TN/ Morse
(B) UIRT/ARQ
(C) IS /Bandot
(D) WWatemaAd-2/ CaITT2

18. g5.50 ¥ faga va o1 RefST i o= wear 3|
EEG can involve the recording of electrical potentials from
(A) g eI, s § FRE sdegey grT
Groups of neurons, via electrodes inserted into the brain
(B) UPA =R/ Single neurons '
(C) eHTagE, R 7w d waeesy R
Groups of neurons, via electrodes placed on the scalp

(D) TURIad i /Al of the above
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19, *C’%! g : fae far ma
‘C’was primarily developed as
(A)  wromTeR ST UTST/ System programming language
B) gHHAH TRITSI HTNT/ General purpose language
(C)  Siferel WNTHT HINT / Data processing language
D) SR &5 g1 / None of the above

20. WWWM@%%WWW 2l
In an ideal regulated power supply is one which has voltage regulatlon of
(A) 0%
B) 5%
(C) 10%
O 1%

21. %ﬁﬁﬁ@ﬁ#ﬁﬁﬂmﬁﬁﬂwa@waﬂtwﬁ%ﬁwﬁwwmﬁwﬁmm
Which of the following memories uses one transistor and one capacitor as basic memory unit
(A) SRAM
(B) DRAM
(C) Both SRAM and DRAM
(D) None

22, CoREAGREd ST e %%qaﬁ\wﬁqa%mw%
ARM processors were basically designed for :
(A) T A UURR / Main frame systems
(B) faafed wummddi / Distributed systems
) TﬁEﬂE;ET TUTTE / Mobile systems
(D) YR PRI/ Super computers

23. GUETOT ATSA I AS F (o0 Ry S w1l
Transmission line must be matched to the load to

(A) T8 B 3UGad decdl ”IMIANG / transfer maximum Voltage to the load

(B) s @ Siii@an dlecdl QARG / transfer maximum power to the load
(C) WS YRTBIFH B/ reduce the load current

(D) TS Sl HYEdH URT FGRT Y/ transfer maximum current to the load
24, Ao 7 e S T Ty & sEeged F T B

Inthecaseof _ adirect physical connection path 1s established between two computers.
(A) uRuy ﬁ%rf%m/ Circuit switching
(B) Tare fRIRkAT/ Packet switching
(C) o feafdn/ Message switching
(D) SIWUE/ Datagram

25, diecAedrgafgar - Hoasd gl
Voltmeter sensitivity is expressed in
(A) ohm /V
{(B) V/ohm
(C) Ohm-V
(D) Volis -
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26. DIAC 3R T 76} oifdber gl

A DIAC is nothing else but a
(A) TRIAC a1 e efffe & / TRIAC without the gate terminal
(B) GTO F I AT/ GTO with two gates
(C) SCS & Y UF e/ SCS with one gate
(D) iR & 919 T WASIP / Transistor with one junction

27. 35919 OR 91T & WY &g v 9 aer e, 7 Filef T7 3m8cqe erkomeist et ¥

For a 3-input OR gate, with the input waveforms as shown below, which output waveform iscorrect?

woa— L[ LT 1L

wors— 1 L[

INPUT C j_—_lh
OUTPUT a L .
QUTPUT b J—

OUTPUT ¢

ouTRUT d %—l 1
(A) a |
B) b
(C) ¢
(D) d
28. DMA 9RTerT & o0 U & 3uaiarhr aion sy &g ¥
The concept of utilizing the bus for DMA operations is known as
(A) CPUSEN/ CPU cheating ‘
(B) wgfda i/ Cycle stealing
(C) CPU W /CPU stealing
(D) SWRIed $IE T8/ None of the these

29. U% 3 §URS pn Gl S w1 Ul sg wife WD B
A forward biased pn junction diode has a resistance of the order of
A) Q
(B) kQ
() MQ
(D) 39TwT FS HET/ None of the above

30. 3feRgT HAT Q90T T Fgdd ¢
Data communication refers to the transmission of
(A) SMaT/ Voice
(B) R &UWT ! Computer data
(C) dif$ar/ Video
(D) SURIH 15 76T /Al the above
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31, W& T T S B
. Dimensions of relative density are

(A) T/ G5 ° / mass/ length™

(B) &M x 915/ mass x length®

< JTH BIS ST Tl / It has no dimensions
(D) daE® / GHAM/ length®/mass

32. oot Tivere 2@ 9T 9619 g1 B

The skin effect causes current to flow
(A) TP & b H/ In the center of the conductor

(B) =ide @ g & U/ Near the surface of the conductor
(C) dTdd dHAH PR S IR/ Through central core of the conductor
(D) I & R T ¥ H/ Uniformly through the conductor

33. feAfalfed & A wler oy wishar aea -
Which of the followings is/are active element?
(A) dicedi W/ Voltage source
(B) YRTET/ Current source
(C) <Hi/ Both
(D) IR T BYE T/ None of these.

34, pn G ST H FrE AT
A pnjunction actsasa

(A) FERTRE/ Controlled switch
(B) fefewmdt Rawr/ Bidirectional switch

(C) U 1l %9 / Unidirectional switch
(D) JWRiad ®Is 981 / None of the above

35. ﬁmﬁ@aa&wm%%wﬁ@mwmﬁa%
Which of the following microwave tubes is based on the principle of veloc1ty modulation?
(A) TWT/TWT
(B) URMICAIS/ Pencil triode

(C) WIHEF/ Magnetron
(D) R/ Klystron

36. U F T dieeal s Fear gl
The voltage induced in an inductor is represented as,
(A) TREA AR BT YRT BT QBT
Product of its inductance and current through it.
B) WREHdr R ITH! YRT F IGTT & BT 0D
Product of its inductance and rate of change of current through it.
(C) Tdl ¥ U 4RI BT 3UT '
. Ratio of its inductance to current through it.

(D) IYST YR Y WPl BT U

Ratio of current through it to its inductance.
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37. U U qeft =rern S
The body will move only when

(A) TEHUIEA= S{JUgdd 97/ Foree of fnc‘aon = applied force
(B) =4Ol 9§ <3fugad §a/ Force of friction < applied force
(C) Y07 & >SJgad 96/ Force of friction > applied force
(D) JuRIEd 94/ All of the above

38, WWw HAE eIl 1
The WWW is a{n) : layer protocol
(A) AT/ Physical
(B) SIWAIT/ Application
(C) SiBSTHST/ Data link
(D) A/ Session

39. W VHDL 3ffersr webrd 7 Rl 1 27 0 764 67 Toram 27
Which VHDL data type can only have a value of I'or'0'?
(A) R/ signal
(B) faesvie
(C)  std_logie/ std_logic
(D) gfewy integer

40, Frafafed ¥ 8 o a1 favor mew g2
Which of the following statements is incorrect?
(A) TTL difeie H 90 9 ol GUd 8idt § IR 33T 35 9o uea! § wurems
AT T ST B
TTL logic has very low power consumption and is therefore widely used in highly
integrated components.

(B) TTLylda & AfSie TR $d93.4 V 3R 0.2 VR gl
TTL devices have logic levels of about 3.4 Vand 0.2 V.
(C) TTLYMGT VYR THdr 5 V SMYf T=meH &
TTL logic normally operates from a single 5 V supply
(D) HM® TTLY § duvur fads giar ¢ & Ryda oiftued & vsror gmy gri mifag 21

Standard TTL devices have a propagation delay that is dominated by the storage time of the
bipolar transistors used.

AL ARMFZE®E %
The address space in ARM is
(A) 2724
(B) 2764
(©) 276
(D) 2732
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42, RFiatEd e Areter 9 9ay R3 7 e 7 Braur 53T aear g
Under which of the following case the power dissipated in R3 in the circuit shown will
increase? ‘
. (A) ©@F RIFIFEEIE/ When R1 is increased
(B) WER2FBIGNHAE/ When R2 is doubled
(©) BRI FAHWE/E is reduced
(D) R4 Y 3y uRuy fHurSIaT 8/ R4 is short circuited.

R1
A
R2
— E
R3
R4
MV

43. Avieier Bt & wafeare saua SART T ST B
In sampling theorem the Nyquist interval is given by

(A Ts= 1
fm
By Ts= 1
, 2 fm
Cy Ts= 1
afm
D) T&= =
fm

44. W F3elr # Q e ¢
Q factor of a coil is given by
(A XL/R
(B) R/XL
(C) XL/Xe
(D) X/ XL

45. e T HNOT 3R 31T &)
is the transmission and reception of information.
(A) HIgWd/ Modulation
(B) AR/ Communications
(C) fafevur/ Radiation
(D) G/ Emission

46 HoT AT TR EheT ST T Hod ¥ TEeY 3 T AT

Before audio or video signals can be sent on Internet, they need to be

(A) T9elipd/ Channelized

(B) U™TEAT/ Managed

(C) sfeipa/ Digitized
(D) T&d/ Organized
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HIAFTH CBTAT BYAT B T TS T &7 olig & 670 & ?
Maximum efficiency will occur, when copper loss is to iron loss? -
(A) &I/ Greater than
(B) Y&/ Less than
(C) TH/Egualsto
(D) SWIE P 7a]/ Any of the above

ST 3T TRt e iR P ST AT e ¥ & gy S afrqam;ram%l
When transistors are used in digital circuits they usually operate in the:

(A) 1:@5?1 &F/ active region

(B) & &F/ lincar region

(C) §%F B3 &7 / breakdown region

(D) Qi R FesTw 89/ saturation and cutoff regions

oIS T gl &
Principle of laser is
(A) wd; Sgeyur/ spontaneous absorption

(B) 3I@id Iego / simulated emission
(O TR IS / induced emission
(D) @I (B) T (C)/both (B) and (C)

wefY 3UrE SUHONTe S AT YaTe e g SRt s e fpar smar &
Batteries are used to power all satellite subsystems

(A) T gEEi W/ At all times

(B) W SIUTBT & SR/ Only during emergeneies

(C) ugvafiRl % §RM/ During eclipse periods

™ IR WP TRW %‘g’/ to give the solar arrays a rest

T eliteleh 31 & el — AT AqTd 4T £7
What is meant by the fan-out of a logic gate?
(A) I B U= S 1€ F SIS eqe B 5ile G ¢!
The number of other gates that can be connected to the gate's output.
(B) iR W 3Heye =] & oftg o1 wifos g
. The physical distance between the output pins on the device.
(€) SRS BT EEI S S & 3 ¥ A O P 9y WSl o 9l g
The number of other gates that can be connected to one of the gate's inputs.

(D) e GRT ufar siaed & umr

The amount of cooling required by the gate

Sl §9¢ TR XA d@lec 8F T, Th OP-amp ¥ afesid: 3M3evge € =Rul
With zero volts on both inputs, an OP-amp ideally should have an output

(A) FPRIHF HYfd Seea S 9+ / equal to the positive supply voltage

(B) “BEUMTHE Sﬂﬁ qrecdl P YaTT / equal to the negative supply voltage

(C) =™ & gaA / equal to zero

(D) CMRR & 9/ equal to CMRR
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53. ISDN ¥ Fe#g HeheuaT gl
The fundamental concept in ISDN is the
(A) TGN EHT/ Analog signals
(B) sloly f9e Us / Digital bit pie
(C) - 8ffars Y9R/ Voice communication
(D) FYXR IR/ Computer communication

54. Tew arv Terdt 7 § @it NOR e &7 gfaedi § 2
Which of the figures given below represents a NOR. gate?

o D > J7 F

a. d.
(A) a
B) b
©€) ¢
D) d

55. T G AT AR e S HEars & 3eed 82
Which gate corresponds to the action of parallel switches?
(A) ORgate
{B) NOR gate
{C) NAND pate
(D)  AND gate

56. TWT 3 &YornrT 3T 39T F fav Fararary
An attenuator is used in TWT to
A fide “v'!?{ﬁ%l / Prevent saturation

(B) Terdr =5/ Help bunching
(C) f0de Gl / Prevent oscillations
(D) STBIRATAST/ Increasing gain

57. NPN giforee & 39 o 3if@ae seleere vas S g1
Most of the electrons in the base of an NPN transistor flow:
(A) HAIRY P 3gT/ into the collector '

(B) SURRI® E®R/ out of the base lead
(C) U & #f@x/ into the emitter
(D) Y VEE & g/ into the base supply

58. T wfed vd GART & HAY wref fa@anr g
g & TBIUA % HRU BN B |

Sun appears red at sun rise and sunset. This is due to scattering of
(A) EIGRRICA: longer wavelengths
(B) TYTTEH / shorter wavelengths
© H]'qﬁ“‘l'q\f ! lower frequencies
@) it &ﬁ%"ﬁ / all frequencies
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59. TereToa srearers giaaat 7 ¥ fFg &T qeler Areas 7 3y T o g &
Which of the following semiconductor devices can be used in an enhanced mode?
(A) UIT
(B) NPN transistor
(C) JFET
(D) MOSFET

60. fr=rfariaa sonfert 3 @ wararr sl ar g
Which are the following systems is analog?
(A) PCM |
(B) DM
(Cy DPCM
(D) PAM
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